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f(xX)=(x+1)(x-1)(x-10).

. F(X) = (x+D)(x=D(x-10) = x* —10x* —x+10
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f(x) = (x+1)(x-1)(x—10) = x* —=10x* —x +10

X =10x 4+ X—10 > X = g(x) = Y10x* + x-10
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Xn+1 = g(xn)

2P x=1.1 172

X, =1.1—> % = g(%) = ¥10x% +x—10 = J10(1.1)? +1.1-10 =
=3/32=1.4736,— x, = g(x) = 2.36267
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e, =0.1¢ =1.4736-1=0.4736,e, = 2.36267 —-1=1.36267 —
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X, =10.1— %, = g(¥;) = ¥10x? + x~10 = §10(10.1)? +10.1-10 =
.=4/1020.2 =10.0668 — X, = g(x) =10.0447,e, = 0.1 &, = 0.0668,

e, =0.0447,% - 00008 oep & 00447 ) ooy
e, 01 e, 0.0668
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f(x) = (x+1)(x—1)(x—10) = x* =10x* —x +10

3
510X =X —x+10 > x? :X_—X+10—>
10
x® —x+10
X = X)=,|———
g(x) 10
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1.1° -1.1+10
X =1.1-% =9(X) :’/T =

,=+/1.0231 =1.0114,— X, = g(x,) =1.00116, e, = 0.1,

e, =0.0114,e, =0.00116, 2 = 0.114, 2 = 0.101
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10.2°-10.1+10
x0:10.1—>x1=g(x0):\/ 10 =

,=+/103.0201 =10.14988, > x, = g(x,) =10.22493,

6, =0.1.e, =0.14988, e, = 0.22493,  =1.4988, %2 =1.5007
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